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1. Encuentren la forma binomial, la forma polar y ubiquen en el plano los siguientes
numeros complejos:
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2. (a) Prueben que si z = |z|e®, entonces 7 = |z]e™ y 271 = %( si |z] # 0.

(b) Encuentren todos los complejos z # 0 tales que 27! = 7.
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3. Resuelvan la ecuacién 2* = 2 — iv/3 en C.
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Converting between polar and Cartesian coordinates | ea:)

The polar coordinates rand @ can be converted to the Cartesian coordinates x and

—q—&mg y by using the trigonometric functions sine and cosine

T = rcosy,
y = rsing.

The Cartesian coordinates x and y can be converted to polar coordinates rand ¢

(K/‘-; O ) 3 A’ O with r = 0 and ¢ in the interval (=, ) by:(}3]

r \‘."..rz " = hypot(z,y)

p = atan2(y, ¢),
3 where hypot is the Pythagorean sum and atan2 is a common variation on the
arctangent function defined as
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